FKEBMEERARI—FERIAXER/ER BRKEE(F1EAEE) HIEHER
£ ®E #% £ = Wi & % &
%2 —BEE %2 —REE
2 HRIHH 2 MR
(2) EHDIEH S (p) (2) EHDIEHE (p)
7 R 7 RAEGE
RAl HEECEHAHORREBET D, 55, Eﬁm RAlL. WEGCEHAHORREBET D, 55, Eﬁa%

(FEKRRI THAT=0. ERIETEKIKET S, = B
RETHFFYH FREHKE 1.4MPa)IJ‘]‘Fn}?’%ﬁaf§%a¢,
LDET D,
1 RREGH

BRI, FEKISADBRELDERAET D, 08, BIs
EISHKRRITHA-O . EIREFEKDIEET S, Ff-. Bl
RAETDILRFEHY N (BEFHKE: 1.4MPa) ITHIET AHEELEDE
DEF B,

(FEKRRI THAT=0. EHRIETEKDKRET D, = B
£ BT FYN EREHKE: 15MPa)(JTFCT%>P*%%a¢,%
DET D,
1 R EGH
BRI, FEKISADBERELDERAET D, 08, BIs
EXHKRRITHAH=O ., HRETWKDIEET D, T &
RET DR FYN GREKE: T 5MPa)(JTFL'T%>F*E§%a¢,%
DEF B,

$4 AEECETDHERKE (p26)
2 EAXMFRERICEHITLIEH

(1) —HR=EI1E
7 BBROFEKEX. RKT1.4AMPa(=RKEKE0.96MPa
+KE[F0.45MPa) #ERELTL\AH, ZDDER (LY FA

T RHOKEELARRETHIDET D,

$4 AEEICETHERKE (026)
2 EAMFIEICEHIOIENS

(1) —f%=I18
7 EBROFRETKEF., RKTI.51MPa(=&KF%/KE0.96MPa
+KEE055MPa) #EXELTL\SA ., ZDMDERIZKYESE
TEHKBEFIEREHTIEDET B,

(%)

(%)

(%)




